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Part A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the correct choice on your answer sheet.

1- He is a woman of - who has never abandoned his principles for the sake of making
money.
1) utility 2) integrity 3) treaty 4) acrimony

2- The loud sound of the radiator as it released steam became an increasingly annoying
1) interval 2) perception 3) zenith 4) distraction

3- Jackson’s poor typing skills were a --—-——-- to finding employvment at the nearby office
complex.
1) hindrance 2) supplement 3) confirmation 4y versatility

4- The judge dismissed the extraneous evidence because it was not ---------- to the trial.
1)y obedient 2) treacherous 3) pertinent ) vulnerable

5- Because biology is such a —-—eeeeeeo subject, it is subdivided into separate branches for
convenience of study.
1) deficient 2) consistent 3) broad 4) mutual

6- In addition, physicians may have difficulty in deciding that an illness can be -—--mmmeo
the job. Many industrial diseases mimic sickness from other causes.

1) attributed to 2) precluded from 3) refrained from 4) exposed to

7- Mcchanics was one of the most highly developed sciences --------—- in the Middle Ages.
1) extracted 2) persisted 3y resohved 4) pursued

8- In the absence of death from other causes, all members of a population may exist in
their environment until the --——------ of senescenee, which will cause a decline in (he
ability of individuals to survive.
1) ratio 2) onset 3 ecore 4) output

9- Before the invention and diffusion of writing, translation was -------—- and oral; persons
professionally specializing in such work were called interpreters.
1) subsequent 2) unilateral 3) eventual 4) instantaneous

10-Public attitudes toward business regulation are somewhat ~--------- ; most people resent

intrusive government rules, yet they expect government to prevent businesses from
defrauding or endangering them.
1) cogent 2) emotional 3) ambiguous 4y indifferent

Part B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

The variety of successful dietary strategies (11) =--------- by traditionally living populations
provides an important perspective on the ongoing debate about how high-protein, low-
carbohydrate regimens such as the Atkins diet compare with (12) -=--==m--- underscore complex
carbohydrates and fat restriction. The fact that both these schemes produce weight loss is not
surprising, (13) =----eas-- both help people shed pounds through the same basic mechanism:
(14) -=ememme major sources of calories. When you create an energy deficit —that is, when you
consume fewer calories (15) ---------- —your body begins burning its fat stores and you lose
weight.

11- 1) employed 2) are employed 3) is employed 4) then employed

12- 1) those that 2) the ones they 3) that which 4) they

13- 1) in fact 2) although 3) likewise 4) because

14- 1) limit 2) limiting 3) which limit 4) with limiting

15- 1) are expended 2) that they are expended

3) than you expend 4) to expend
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Part C. Reading Comprehension

Directions: Read the following three passages and choose the best choice (1),
(2), (3), or(4). Then mark it on your answer sheet.

Passage 1

Lvery megaconstruction project has elicited controversy, and the Three Gorges Dam is no
exeeption. Proponents assert that not only will the dam gencrate a tremendous amount of
“clean™ energy (that is. electricity without the burning of fossil fuels). it will also help control
catastrophic looding along the heavily populated middie and lower reaches of the Yangtze. the
world"s third longest river. But crities argue that the project’s overall toll will far outweigh its
potential benetits.

Phe Three Gorees Dam will inercase the water level of the Yangtze for some 370 miles
upstream. aflecting the habitat of various wildlife. including a rare species of river dolphin, and
toreing the relocation of up to two million Chinese living in what will become a reservolr. In
fact. nearly halt the project’s monstrous multibillion-dollar price tag is being applied to the
resettlement of hundreds of villages and towns along the river's edge. Although government
officials acknowledge this tremendous hardship. they insist that the new apartments and towns
being construeted on higher ground will improve the lives of many.

16- What is the organization of the passage?
1) An project is introduced and the reasons for its construction are analyzed.
2) Anaccomplishment is mentioned and its disadvantages are listed.
2 The pros and cons ol a phenomenon are cited.
4) The steps ina process are delineated.
17- The opening sentence of the passage suggests that the plan to build the Three Gorges
Dam was --------- .
1) actually designed by non-experts
2) exceptional in regard to its size
3) not put into use as scheduled
4) not received warmly by all
18- It can be understood form paragraph 1 that the dam was to be built where -------—- .
1) there was a river
2) people were destitute
3) floods were rare but disastrous
4) there were no fossil fuels abundant

19- The word “outweigh” in paragraph 1 is closest in meaning to --------- .

1) reinforce 2) override 3) highlight 4) engender
20- According to the passage, all of the following would be affected by the

construction of the Three Gorges Dam EXCEPT --------- .

1) wildlife 2) river dolphins 3) some people 4) a reservoir
21- The price tag mentioned in paragraph 2 is the funds required to --------- .

1) construct the Three Gorges Dam

2) provide shelter for those who would be dislocated

3) keep intact villages and towns along the river’s edge

4) help all the government officials estimate what they need to make their plan operational
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Passage 2

Operations research attempts to provide those who manage organized systems with an
objective and quantitative basis for decision; it is normally carried out by teams of scientists
and engineers drawn from a variety of disciplines. Thus. operations research is not a science
itself but rather the application of science to the solution of managerial and administrative
problems, and it focuses on the performance of organized systems taken as a whole rather than
on their parts taken separately. Usually concerned with systems in which human behavior plays
an important part, operations research differs in this respect from systems engineering. which.
using a similar approach, tends to concentrate on systems in which human behavior is not
important. Operations research was originally concerned with improving the operations of
existing systems rather than developing new ones; the converse was true of systems
engineering. This difference, however, has been disappearing as both fields have matured.

The subject matter of operations research consists of decisions that control the operations
of systems. Hence, it is concerned with how managerial decisions are and should be made, how
to acquire and process data and information required to make decisions effectively. how to
monitor decisions once they are implemented, and how to organize the decision-making and
decision-implementation process. Extensive use is made of older disciplines such as logic.
mathematics, and statistics, as well as more recent scientific developments such as
communications theory, decision theory, cybernetics, organization theory, the behavioral
sciences, and general systems theory.

22- The word “disciplines” in paragraph 1 means --------- .
1) regulations 2) experiences 3) majors 4) jobs
23- Which of the following statements is TRUE about operations research?
1) It is a collaborative enterprise.
2) The workings of the parts of a system is its focus.
3) It has no similarity in any respect to systems engineering.
4) It tends to concentrate on systems in which human behavior is not important.
24- Paragraph 2 mainly discusses --------- .
1) what contributions operations research makes to logic, mathematics, and statistics
2) how managerial decisions are made based on operations research
3) how operations research has developed in the course of time
4) what operations research is concerned with
25- According to the passage, all of the following are involved in operations research
EXCEPT --------- .
1) overseeing the implementation of decisions
2) helping to provide the raw data to use for decision making
3) improving the operations of existing systems rather than developing new ones
4) the application of science to the solution of managerial and administrative problems
26- Which of the following best represents the rhetorical purpose of the passage?
1) Categorization 2) Function description
3) Comparison and contrast 4) Cause and effect analysis
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Passage 3

Engineering management is a specialized form of management that is concerned with the
application of engineering principles to business practice. Engineering management is a career
that brings together the technological problem-solving savvy of engineering and the
organizational, administrative, and planning abilities of management in order to oversee
complex enterprises from conception to completion.

Example areas of engineering are product development, manufacturing, construction, design
engineering, industrial engineering, technology, production, or any other field that employs
personnel who perform an engineering function.

Successful engineering managers typically require training and experience in
business and engineering. Technically inept managers tend to be deprived of support by their
technical team, and non-commercial managers tend to lack commercial acumen to deliver in
a market economy. Largely, engineering managers manage engineers who are driven by non-
entrepreneurial thinking, thus require the necessary people skills to coach, mentor and motivate
technical professionals. Engineering professionals joining manufacturing companies sometimes
become engineering managers by default after a period of time. They are required to learn how
to manage once they are on the job, though this is usually an ineffective way to develop
managerial abilities.

27- What is the subject of the passage?

1) A specialized form of management 2) Areas of engineering
3) Problem-solving in business 4) Business practice complications
28- The word “savvy” in paragraph 1 is closest in meaning to --------- .
1) mixture 2) device 3) branch 4) expertise
29- The passage states that those engineering managers who succeed in their job are those
who --------- .

1) turn out to be inept managers in the long run
2) are deprived of support by their technical team and stand on their own feet
3) manage to gain training and experience in not only business but also engineering
4) do not need to have the capabilities to supervise the implementation of a project from
the beginning to the end
30- What is the attitude of the writer towards those engineering professionals who
acquire managerial skills while working?
1) Hostile 2) Skeptical 3) Amused 4) Indifferent
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